
SAP ABAP table /ISDFPS/ME_WO_AFFH {DFPS: PRT Assignment Plant Order - Mobile (Without .include)}

_ISDFPS_ME_WO_AFFH

OBJID [NUMC (8)]

PLNTY_KEY [CHAR (1)]

OBJNR [CHAR (22)]

STEUF [CHAR (4)]

BZOFFB [CHAR (2)]

EHOFFB [UNIT (3)]

BZOFFE [CHAR (2)]

EHOFFE [UNIT (3)]

DAUEH [UNIT (3)]

MGEINH [UNIT (3)]

MGSOLEH [UNIT (3)]

MGISTEH [UNIT (3)]

MGRSTEH [UNIT (3)]

MGAUSEH [UNIT (3)]

MGFORM [CHAR (6)]

EWEINH [UNIT (3)]

EWSOLEH [UNIT (3)]

EWISTEH [UNIT (3)]

EWRSTEH [UNIT (3)]

EWFORM [CHAR (6)]

TXTSP [LANG (1)]

KTSCH [CHAR (7)]

CRID

MANDT [CLNT (3)]

OBJTY [CHAR (2)]

OBJID [NUMC (8)]

 /ISDFPS/ME_WO_AFFH-OBJID = CRID-OBJID 

0..N

1

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 /ISDFPS/ME_WO_AFFH-OBJNR = ONR00-OBJNR 

0..N

1

T002

SPRAS [LANG (1)]

 /ISDFPS/ME_WO_AFFH-TXTSP = T002-SPRAS 

0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 /ISDFPS/ME_WO_AFFH-DAUEH = T006-MSEHI 

0..N

{0,1}

 /ISDFPS/ME_WO_AFFH-EHOFFB = T006-MSEHI 

0..N

{0,1}  /ISDFPS/ME_WO_AFFH-EHOFFE = T006-MSEHI 

0..N

{0,1}
 /ISDFPS/ME_WO_AFFH-EWEINH = T006-MSEHI 

0..N

{0,1}
 /ISDFPS/ME_WO_AFFH-EWISTEH = T006-MSEHI 

0..N{0,1}
 /ISDFPS/ME_WO_AFFH-EWRSTEH = T006-MSEHI 

0..N

{0,1}  /ISDFPS/ME_WO_AFFH-EWSOLEH = T006-MSEHI 0..N

{0,1}  /ISDFPS/ME_WO_AFFH-MGAUSEH = T006-MSEHI 
0..N

{0,1}  /ISDFPS/ME_WO_AFFH-MGEINH = T006-MSEHI 

0..N

1

 /ISDFPS/ME_WO_AFFH-MGISTEH = T006-MSEHI 

0..N

{0,1}

 /ISDFPS/ME_WO_AFFH-MGRSTEH = T006-MSEHI 

0..N

{0,1}

 /ISDFPS/ME_WO_AFFH-MGSOLEH = T006-MSEHI 

0..N

{0,1} T435

MANDT [CLNT (3)]

VLSCH [CHAR (7)] /ISDFPS/ME_WO_AFFH-KTSCH = T435-VLSCH 0..N
{0,1}

TC25

MANDT [CLNT (3)]

IDENT [CHAR (6)]

 /ISDFPS/ME_WO_AFFH-EWFORM = TC25-IDENT 

0..N

{0,1}

 /ISDFPS/ME_WO_AFFH-MGFORM = TC25-IDENT 0..N
{0,1}

TCA01

MANDT [CLNT (3)]

PLNTY [CHAR (1)]

 /ISDFPS/ME_WO_AFFH-PLNTY_KEY = TCA01-PLNTY 

0..N

{0,1}

TCA54

BZOFF [CHAR (2)]

 /ISDFPS/ME_WO_AFFH-BZOFFB = TCA54-BZOFF 

0..N

{0,1}

 /ISDFPS/ME_WO_AFFH-BZOFFE = TCA54-BZOFF 

0..N

{0,1}

TCF10

MANDT [CLNT (3)]

STEUF [CHAR (4)]

 /ISDFPS/ME_WO_AFFH-STEUF = TCF10-STEUF 

0..N

1


